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(@ 4
hoose the correct ansWer : 1x5=5
(@)~ Many reactions ¢ alccorrlpani“"d by

the emission of visible radiation: This

phehomenon is known as

(1) chemiluminescence

(i) phosphorescence

(iii) fluorescence

(iv) quenching of fluorescence
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(2)

(b) In step polymerization, the molecular

(c)

(d)

P9/745

weight of the polymer formed is

(i) equal to the tota] molecular weight
of the monomers reacted

(@) less than the totq] molecular weight
of the monomers reacted

more than the total molecular
weight of the monomers reacted

None of the above

(iti)
(iv)

Which of the following is not a criterion
of catalysig?

i) A catalyst remaing unchanged at
the end of the reaction.in its mass

() A small amount of - catalyst
is sufficient to bring about
a considerable extent of regction

(iii) A catalyst

cannot change the

position of equilibrium of a reaction

(iv) The rate of catalysis does not
depend on the temperature

The number of com
of phases and num
freedom at the triple

pPonents, number
ber of degrees of
point of water are

M 1, 1,40
M 1,9 ¢
(@ 1, 1, 1
) 1, 3, g

( Continued}

(e)

6o

of
e number
A collection of a larg having the

ies,
independent assembli volume V and
same temperatureé T,'S called
chemical potential } !

(3)

i semble
(i) microcanonical €n

i mble
() grand canonical ense

ble
(ifi) canonical ensem

ve
(iv) None of the abo
gx5=10
tions °
2. Answer the following =8 Give one
e2elst +1=2
(@ Wh ¢ g bioluminescenc 1
a
example. 4 copolymers i3
an 1l =
(b) Define homopolymer®
with examples. ts are
(¢  Explain why Fnﬁire.
highly specific 11 write the
2
stefm’ em.
. sed sY syst +1=2
(d) Whhat' ;Sul(;oéﬁf:tion or such 1
phase
tweeﬂ
2 ences -Stjcs.
: pasic dlffefr tein stat!
(€)  Write the 4 Bose-Eins
Boltzmann an
umn Ouer}
(
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(4)
(5) 6l
3. An 1
foni“;?,‘; any two questions from the _
8 31/,x2=7 (b) (i) Write a short note on Ziegler-Natta .
a S : catalyst.
i ltfcl)tte and. explain Einstein’s law of
Photochemical equivalence. What is (ii) Discuss the  method  of
qQuantum yield of a photochemical determination of molecular weight
reaction? 2]/+1=3r/; of polymer sample from viscosity 5
2
measurement.
7 \?Veﬁne the phenomenon of fluorescence-
thntt:- two characteristics of it. Explain 5
at the delayed fluorescence is called Answer any one question from the following :
phosphorescence. Triudts 3% ¥
: : " talyst
(c : (@) (i) Explain how addition of a cata
) (1) \g‘hat are photosensiuzgd reactions? Chgnges the rate of a re_acnon.
lve one example of it. 1+1=Q What is catalytic poison? Gnlrtlz/ 0111::1/_3
{il) Write a short ot b=
n . example.
cell. ote on photoelectric b P ik e
4 (i) Explain the effect of tempe 9
» Answer any one question from the following : on surface reaction®
& ' - : . : equation
@) Delie toges o potpmeriason and. | 7 1 Derive Michael S T
eacti . ’ e caldl ¥
equation, Ction. Write Carothers il or enzym : b et
@ A pol o (i) Why is finely divdedt B eeneous
molicxﬁm °r sample composed of as catalyst in heterog 1
these 188 of three sizes. Out of catalysis?
ioleculas mo!es of first size have
of secoHdWelght 10000, 80 moles An otis ¥ oM the
weight 5000‘?‘;2‘3 have molecular fDHSWE_:r any two quest 4Y4%2=9
the third g and 10 moles of Owing :

o Size haVe ) .
weight 100000, @ molecular (@ LA by pentectlc
numb alculate the What do you ge

€r  average : : th labelled pha
average mpolec lg and  weight change? Discuss the€ ol
Sample, ular weight of the g diagram of Na2804'H2O Sy 1+3%=4"
P9 /745 1+1
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(6 ) (%) b2

amic probability-

(b) () For a system A (at. mass 209, (b) (i) Define thermodyn . crostates?
m.p. 308°C) and a system B | What do you mean by ML L)
(at. mass 24, m.p. 652°C), & | Derive & relauon;elgnodynamic
compound is formed corresponding | entropy i 1+143=5
to 19% by mass of B. The | probability-
compound melts at 710 ° ieldin ional Paftition
a liquid having Othce: we;i;ns I (ii) Calculate tl"an%la:lozas contained
composition.  There are two | function of an 138 Jitres at 500 K.
eutectics (1) at 271 °C and 9% by ’ in a volume of lf the gas
ces of B and (2) at 550 °C and The molecular ™
fO% by mass of pg Draw the is 100 &.
entative labelleq : :
phase diagram
?or the system anq deduceg the ( Old Coprse )
ormula of the compound. o+1=3” BT
(i) Explain wh : Full Marks :
Y eutecti i is not :
a true compoung PR T 1 Pass Marks : 1
{C) : ' . . 3 houTS
# Write Clapeyron equation. Explain e 1x5=5

l
wh fusi & : | :
y 10n Curve gives a negat_lve | 1. ChOOSE the COI'I'eCt anSWCI‘ £

|

[

slope but va Ly ot t true
gives a Ilvos't-_ipmr L cub¥g : { the following o
dia 1llve Slope in the phasc l/] (a) Whlch one O y reaCUon
gram of water system. 1+ 1472 for a I:Jhotoclflem"call : involves
(i) What I8l i g ’ : : hemical reaction
why sulph, LPI€ point? Explaif O e Tt
oy Sulphur system hag more than =R ange (4G O
€ triple point, 1414 (i) The free enersy = .on must be
7. Answer any o, ; 1 hotochemical fEp
: € Question from the following : aegafive je effect
a) () State n ery little €°
and . il e has V mic
approximation explain  Stirling 3 (ii) Temtpgzat:‘;te of @ photoch®
: ‘ . on tl
(@) Bzz:;: 4 an eXprasait for reaction .t has marked
usin athnfa_I partltlon funCtion {IU) The intensity Of hgte Of phOtO.—
idealg ri:;tlile In a box model for 4 effect on t eti I:
atomic ical reactio
= gas. chemical ( Turn over)
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